®

replacement parts industries, inc.

CALL (800) 221-9723 » FAX (818) 882-7028 « EMAIL order@rpiparts.com e WEBSITE www.rpiparts.com

PHILLIPS PAN HEAD SCREWS WITH MATCHING FLAT WASHERS KIT!

RPI PART #RPK402

HARDWARE KIT

e Kit includes 12-compartment storage case HARDWARE KIT
(BPL Part #RPB416)

e Stainless steel machine screw

e Hardware is also sold separately in quantities indicated below
RPI PART # SIZE TYPE aTy
BRPH101 #6-32 x 1/2" Ig.  PHILLIPS PAN HEAD 50
RPH102 #8-32 x 1/2" Ig.  PHILLIPS PAN HEAD 50
RPH103 #10-24 x 3/4" lg. PHILLIPS PAN HEAD 25 ‘
BRPH104 #6 SPLIT LOCK WASHER 50
BRPH105 #8 SPLIT LOCK WASHER 50 RPH101 - RPH103 RPH107 - RPH109
BPH106 #10 SPLIT LOCK WASHER 25 PHILLIPS PAN HEAD SCREW FLAT WASHER
BPH107 #6 FLAT WASHER 50
BPH108 #8 FLAT WASHER 50
RPH109 #10 FLAT WASHER 25 Q}
BRPH110 #6-32 HEX NUT 50 ‘
BEH11 #8-32 HEX NUT 50 RPH104 - RPH106 RPH110 - RPH112
RPH112 #10-24 HEX NUT 25 SPLIT LOCK WASHER HEX NUT

STAINLESS STEEL LOCK WASHER KIT

RPI PART #RPK413
LOCKWASHER KIT
e Kit includes 18-compartment storage case
(BRI Part #RPBA17)
o Stainless steel RPK413
e L ockwashers are also sold separately in LOCKWASHER KIT
quantities indicated below
RPI PART # SIZE aTy
BPH173 #4 50
RPH174 #6 50
BPH175 #8 50
BPH176 #10 50 Ko>
BPH177 1/4" 50
BPH178 5/16" 50
REHIZD 3/8" 50 INTERNAL TOOTH
RPH180 7/16" 25 LOCK WASHER
1/2" 25
BPH182 #4 50
BPH183 #6 50 RPI Part #RPA032
GeH1S4 #8 50 THREADLOCKER 242
BRPH185 #10 50 e 5 per package
RPH186 1/4" 50 @ e .02 fl. oz. per unit
RPH187 5/16" 50 e Prevents rust and corrosion
RPH188 3/g" 50 e Removable adhesive by Loctite®
RPH189 7/16" 25 E{Lﬁ"ﬁ;ﬂg” e MSDS and Technical Data sheet
available on RPI website
BRH190 1/2" 25



https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPK402
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPK402
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH101
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH102
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH103
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH104
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH105
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH106
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH107
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH108
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH109
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH110
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH111
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH112
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPK413
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPK413
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPB417
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH173
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH174
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH175
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH176
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH177
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH178
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH179
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH180
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH181
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH182
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH183
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH184
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH185
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH186
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH187
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH188
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH189
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPH190
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPA032
https://www.rpiparts.com/RPIPartDetail.aspx?rpinum=RPB416

